Exercise (Week 7)
November 05, 2021

T #HE
U={(a,b):a,bcR,a>02 b>0}.
TR U P28y 5 % u=(a,b),v=(c,d) €U, Ml utv=(ac,bd). ¥ 'tz
L reRu=(a,b)cU & %ifh ra=(a",b"). 3Fv 11T 3L
(2) WA Ut ehne 2 85 L35 &P, 02 BRERH LT HPE TEuvel
mE reREZE u+velU? £F ruel?
(b) A EFHEZZ uv,welU ¥ 3 u+v=v+u, M3 (u+v)+w=u+(v+w).
(c) #FH I 0cU BEHEZ uel ¥F ut0=u THEEL u=(a,b)eU, 5
hweU s Lutu =0.
(d) #EE rnseR ME uyveV, 255 r(u+v) =ru+rv; (r+sju=ru+sv;
(rs)u=r(su); lu=u &7 = = .
(e) U % 5 vector space over R? U #_% 5 R? (- dgehde iz & )
subspace?
() i v=(25,1/9),W=(4,1) * u=(xy) & U # i & 2u+3v—5w. 117 &
BEAGBT 2u43v 1R Swond R Aon ik Ik RN Y.
(g) Fo7vwelU ¢ wucl % T 2u+3v=>5w. E¥u B2 v,wisfe s,
TF)lT«I v=(251/9),w=(4,1). F uecU /& & 2u+3v=>5w. f|* } i
2E fFD w
(h) ™ 7|oRit §_U ¢ subspace, T 3.p 52 d
U ={(x1):x>0}) Uy={(2",3"):reR};

Us={(x,y):x>1,y>1}; Us={(x,y):x>1,y>1}.

YR B L S={1,2}, 2% vector space R (- 4kehse 2 & thdicft). 4 F(S,R3) 3
03 S I R stk & HER f,ge F(SRY), reR & (f+g)(1) =
SO 8D, (F+8)2) = f2)+8(2) 125 (m)(1) = r-F(1),(1)(2) = - (2)

(a) © 4 F(S,R3) #yt T &2 T # - B over R ¢ vector space. & h & F(S,R?)
fp Bt g, FHT h(1),h(2).
(b) _F’ fageF(SuR3> " &
f(1)=1(0,1,2),7(2) = (1,2,3); g(1)
WRT (3f-2) 1,2 nddcE.
(c) T s|omit §_F(S,R3) ¢ subspace, ¥ #.p 3L d
={f€F(S,R): f(2)=(0,0,0)}; L= {f € F(S,R): f(1)+£(2) = (0,0,0)}
Fy={feF(S,R): f(1)-f(2) =0}; Fy={f € F(S,R%): f(1) = (x,3,2),xyz =0}
Fs={f € F(S,R%): f(2) = (x,y,2),x+ 2y —2=0}.

(—-1,2,—1),g(2) = (2,0,1)



